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FIGRBPEFRE £ 1R (Question T1)

flx) & ') 1 f(x) OB LU ZHERKEET,
LI ORI & 2 &

1) U ToMn iftXaeE R 5,
f'(x) + af'(x) + bf(x) = 0 (a, b: F£)
FROREEFFEX 22 +al +b =023 m+ni(m=0, i: B ORI
EHOL X, filx) =e™ .cosnx & fo(x) =e™ -sinnx 2 1 KOIEAME
EH T L ERE,

(2) LT OHERMEE S 2 %,
(%) + 4f'(x) + 16f(x) = 0
MG £(0) =V3. f/(0)=0 LT %,
@) f(x) Zko X,
(b) f(x) PHKEE D x ZROL, 2L x>0 295,

(3) f"(x) + 2f'(x) + 4f(x) = e* +sinx O—fEfAEERD L,
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Question T1

f'(x) and f"'(x) are the primary and secondary derivatives of f(x), respectively.

Answer the following questions.

(1) Consider the following differential equation:
f"(x) + af'(x) + bf(x) = 0 (a, b: real numbers)
where its characteristic equation, 22 + a1 + b = 0, has solutions
m *+ ni (n # 0, i:imaginary number).
Show that fundamental solutions are f;(x) =e™ -cosnx and f,(x) =e™* -

sin nx.

(2) Consider the following differential equation:
f'(x) + 4f'(x) + 16f(x) = 0
where f(0) =+/3 and f'(0) = 0.
(a) Find the solution f(x) of this problem.
(b) Find the value(s) of x at the local maximal value(s) of f(x) under the

assumption that x > 0.

(3) Find the general solution of f"'(x) + 2f'(x) + 4f(x) = e?** +sinx.
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FIGRIVFHRFE £ 27 (Question T2)

KA X, BNy T, LT oMUt > Bdl{a,} 5% %, 72iZLxd
YITEBBOERE T D,

a,=a,,+a,, (N=22), a,=x, a=Y. (1)

) {a, } IZOWTLELFORWIZE X K,

(1)

(2)

(3)

(4)

(5)

(6)

A {a )} O FHE a AEREICKRDHETATY ZLERL, O
R A,

5] {a, 3} O —MEHE a, ZROLFEIL LLTO X ST, 175IQ DF
BIRET D2 ENTE D, [THIQZKR®D, a, #Q & B~V M i H
WTET,

a'n

N

1TH1Q 2 AWTHS {a,} 0 —E a, ZRDBTATY RLETE S
P L. R E R AT,

a'n—l
a, ,

=Q- @)

(n>2), Q= [QM quJ'

q21 q22

x=1, y=3D & Za, &KL,

¥H) {a,} D—MHa, &b DKM TH SR 2 —Ha,, LT D
Ya,, Y2 EET D E. {a,, HIEERT D (R CEINOHH D i LHL
no5) ZE&EmrRe,

{a,, Y OTEER DM %R X,
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Question T2

Consider the sequence {a,} that is determined by the following recurrence formula
where the first term is X, and the second term is y. Note that x and Yy are integer

constant.
a,=a,,+a,, (N=2), a,=x, a =Y. (1)

Answer the following questions regarding the sequence {a, }.

(1) Show a recursive algorithm to determine a general term a, of the sequence
{a, }. Also show the computational complexity of the algorithm.

(2) In order to determine a general term a_ of the sequence {a,}, we can utilize
the multiplication of the matrix Q. Determine the matrix Q, and obtain a, in
terms of Q and a constant vector.

a,
a1

(@)

0[] e o]

qll q12 J
a,_

qu q22

(3) Improve the algorithm as much as possible for determining a general term a, of
the sequence {a,} by using Q and show the computational complexity of the

improved algorithm.

(4) Obtain a,, when x=1, y=3.

(5) Consider the sequence {a,,} where a general term a_ is the remainder of the
division of a general term a, of the sequence {a,} by an integer m. Show the

sequence {a,,} iscyclic (only the same sequence of numbers occur repeatedly).

(6) Obtain the period of the cycle in the sequence {a,, }.
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i RIVIEHRFE £ 3 (Question T3)

(1) E=5%% x(0), x(1), x(2), ...., x(1), ..... NEZbhlEx, 20
z B DO EZRX &2 ~E.

(2) KW T31IWCRTTIVEINT A NAIZHTIHUTORMIZEZ L.

B, XE, ZoRE~OANEZFTHY, Y)IIH 1 TH .
U@, BEFO#SICBIT2EEFEZEREL TS, X(z), Uz), Y(z)
DNTNH zEBTOERTLTHD.

U(z)

T3-1
(a) Y@)% Ul TExTE2rE.

) U@)% X(z)TEITNE2rE.
() Y% X(@Z)THRL, ZoRKOIEEREEE Hz) % H R & k.

Uk oEMBIcB W T, a=

Slw

,bz—é,czl ET 5.
(3) ZolEOZEMHIZOWTimE X.

(4) ZOEBICHZ nOER xm) =D (n=0) &ERDHESTNHA

HENTREOHNES y)ZFZ n O E LTk L. 512,
y(n) O & KR+ K.
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Question T3

(1) Given a sequence of signals, x(0),x(1),x(2),....,x(i),..... , show the
definition of z-transform of the sequence.

(2) Answer the following questions for the digital filter shown in Figure

T3-1, where X(z), Y(z) and U(z) are the z-transforms of the input
sequence, the output sequence and the sequence of the node, respectively.

U(z)

el [
L]

Figure T3-1

(a) Obtain the equation that relates Y(z) to U(z).
(b) Obtain the equation that relates U(z) to X(z).

(c) Obtain the equation that relates Y(z) to X(z), and show the transform
function H(z) of the digital filter.

,bz—l,czl .

In the following problems, assume a = 5

B w

(3) Discuss the stability of the digital filter.
(4) Suppose a sequence x(n)=(—-1)" (n=0) is input to the digital

filter, obtain the output sequence y(n) as a function of time n. In addition,
draw the function y(n).

T-6



FimRBIERFE F 408 (Question T4)
LTFORWICE 2 &,

(1) BXAEEICBITS L, C iz nEnMzEgWd N, TO4LHHE
BERX, FRICHOWTELE &EiilEoBEfEXEZ R,

(2) 1 kKQOWHME AL E R & = BEHMEN 1.5 kKQDOEH O AL TEN
ZEBRTLHEAZRBR A2 TCRE, B, 1.5 kQDOEHEZ W
<HOFWTH RV,

(3) X T4-1 1L DC E— X OBEEFEIE O —fFl 2R L TW 5D, R T E

Ny I AL EEETEME £ 0aBEE X K.

(4) X T4-1 ©OE— ZBRBE IV T, T — & ORI EE 42 8k 1IZ
P SEDWZIFZEDOL S RBIHE T ZH ATV HTikze —>
T, MRICHE &,

(5) I T4-2 D L 912, fift 2a, Bi2b DEHFER EOH HAMAE (x, ) |
ﬁF@Mz%hfwéoit\ﬁﬁ%Wi4o@%ﬁ®ﬁf
ﬁi%éhfﬁ@\%@%ﬁM~MK%M%Mﬁ@m%ﬂ?y#
DREI N ERIEDPDPD NE5H L TWD, U TOMWIZE X X,
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A / F
S2 b S1

v

S3 S4

T4-2

(a) hE o HELTHoE L —BUICTHVWLNLD — DI, 0T HF —
UhREFoNnND, Ll OT A =V HEETITH LD NS
WZEPDLESKHWHLNIRIKOEL M EEZ . ET-E0RKK %
i, a6, ANMEELZ E, HWIhEEEZ e, ¥—VFEEZ K, O
THEE e, OTHENODODLEEDOVOTAFY—VOEBEZ R &
Lzt &, OFTAhREe 2RO E2RE,

(b) Kl s1~ss CtHlI SN2 NNDORETIEEZNEFIN F1~Fs &7
Lo ZTOEE, EHFEHRIZMboTWELEIHORKREES F EZDN
ExzATRYE, 2L, EFEEOEELZ M, E/IIMKEELY ¢
ELT, EFEROERIZEHRCTCEZLILDOLET S,
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Question T4

Answer the following questions.

(1) What do L and C in an electric circuit mean? In addition, show their

(2)

(3)

(4)

(5)

relationships with voltage £ and current /.

Show a circuit diagram to generate the resistance of 1k Q by using 1.5k
Q resistances. You can use as many 1.5k Q resistances as you need.

Figure T4-1 shows an example of control circuits for a DC motor. Draw

a circuit element to fill the broken square '___, and answer the name of
the circuit element.

—1— +Vece

Figure T4-1

For the motor control circuit in Figure T4-1, what kind of control signal
is required to continuously control the motor rotation speed? Answer a
control method and explain it briefly.

Vertical force is applied to the point (x, y) on a rectangular plate whose
size is 2a by 2b as shown in Figure T4-2. The rectangular plate is
supported only on its four corners, and a force sensors are installed on
the corners s;~s,4 to measure applied force at each corner. Answer the
following questions.

T-9



v

S A
3 ) 4
Figure T4-2

(a) A strain gauge is one of most commonly used force sensors. Answer
the name and draw the diagram of a circuit used to amplify a small
output of a strain gauge. In addition, show the equation to obtain strain
¢ by using input voltage E, output voltage e, gauge ratio K, strain ¢ and
resistance R when the strain is zero.

(b) Let the force measured at each corner s;~s4 be denoted by Fi~F, .
Show the equation to obtain the force F and its position x and y, where
M denotes the mass of the rectangular plate and g denotes the
gravitational acceleration. Note that the deformation of the plate can
be disregarded.
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FinRIFIFHRE £5/ (Question T5H)

1950 2T Z » « F=— U 7 (Alan Turing)iZ & - TE2u725# 3 [Computing
Machinery and Intelligence ] (Zid, Btk [H4: )] 2B H720DT7 A T T IZ
DWTRIR SN TWD. ZAUBEET DL FORIZE 2 L.

(1) T =2—V MW ERZ LM E O 0¥ EFIER, BIEME I
TWAHD. LAEiIEEZ L.

(2) ) TEATTEOIEZ 5 ITRE THRNE (WETHNTHZHNTH K
V).

() Q@)DFIEFIANTHBEOEH FIAIEIC Db TREEZ 5 2| 7o, 2850
HH LR TS, UTORHEEZTEHET%<HWT, Q) THAL
7o LD ME E%Alﬂ EWFTRIC G 2 o BT O T 15 TR TRk
L. (HEEZAWEEFTIIC TRRESI< 2 L))

B AEMLEE John Searle, Eliza, Loebner Prize, FEZEDOEZE, HIRSZEMLHE,
e
i1
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Question T5

Alan Turing proposed a method for testing “intelligence” of machines in his paper
“Computing Machinery and Intelligence” published in 1950. Answer the following
guestions about the method.

(1) What is the method called?

(2) Explain (in about 5 lines) the outline of the method proposed by Alan Turing. You
can draw a figure if needed.

(3) In the years since 1950, the method has proven to be both influential and widely
criticized in the philosophy of artificial intelligence. Describe the problem of the
method and the influence to artificial intelligence research in about 15 lines using
the following keywords as many as possible. (Draw lines under the keywords in
your answer.)

Speech processing, John Searle, Eliza, Loebner Prize, Chinese Room, natural
language processing, common sense
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MEDITIERE £ 179 (Question Al)

(1) ROEfE A TEEE T4 BRSO IERY b S 7= a8y MEOS B 288 U, FE SR A 8HToD
1R CRFL L7 S0,

(@ 0.5

(b) 1.0

(c) 1.25

72k, IEEEHUSETEADFEY NI DAL, LIT @Y T o,

1bit 8bit 23bit

CHEsD> € e > € R m >
® [Fs : 0DIRHTIEDEL, 1DRHTIADH AR

® I5fe: 2& ML L, 12T TS T ASNIAET, —126~+12TDffi% & %

® iHm : JeEEAVINBUE L L, FORITEERD 1 vy b5 &5,

(2) RAID (Redundant Array of Inexpensive Disk) [F{EREMEDE\NNT 4 A7 25T 5
TEO—2TH D, EOXDHIHED W< O0D L-UTHHTIRIE L,

(3) DMA (Direct Memory Access) X, FD X 97 A ek, F/=., B2,
ED LD 7ol % m b9 DA A0 A, B4R 2 BT Gl XL,
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Question Al

(1) Translate the following number with IEEE754 single-precision floating point format in a

normalized form, and express them with eight hexadecimal numbers.

(@ 0.5
(b) 1.0
(c) 125

IEEE single-precision floating point format is as follows:

1bit 8bit 23bit

<sign s> €< exponente > € significand m >

® Signs : if sis 0, it is positive number. if s is 1, it is negative number.

® Exponente : ¢ is anumber of exponent of base-2, is biased by 127, and varies between -126
and +127.

® Mantissam : Top of the mantissa is zero point, and there is an implicit upper 1 bit.

(2) RAID (Redundant Array of Inexpensive Disk) is a method to build reliable disk. Explain
the method of RAID for each level of RAID.

(3) Explain the mechanism of DMA (Direct Memory Access, and explain which kinds of

processing it will make efficient with a concrete example.
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BEITEHRE F 20 (Question A2)
N—UEHLZ T LAY XAZEST AU T ORI NI 2 X,

(1) FIAFTREZREREEON— x4 L5, LLFO_—USBSIOW T, LRU 7
NAY XLTR—VEWZ 51T & XRETHN—TU 7 4L MNela ko &,

0, 1, 2, 3,0, 1, 4 0, 1, 2, 3, 4

(2) FIFO 73 XA TIL, FHRRER TR R—PE 2 TH, 2o Tor—
DT p— )V NEEOMEZ A L3bh A, ZDOZ LR, (1) DR—UBBEIT, =
M 3 & 4 DFEDR—T7 3 — V& 45 Z L IZ L 0o,

(3) LRU 7/v=3 Y XATHL, FIFARRE R FitBOR— 8z b, R_R—=U 7 34—
JU NEBUIE U CHE 2. 5 2 L 37w, FO 23 X,

(4) LRU 7v3Y R, +97N— R =7 OENRN & ERPRNEETH S, BFE
\ZFHIATHEZR LRU DIl 7 v 3V X% 1 OZET, £ OB AR X,

(5) FIFO7 /LU X ARCLRUDUTEL T /L2 R AL Tk, SEEIHEH LB e—
ZEREZ CTEEHZ CLE ) RN S D, BIEOARL—TF 4 TV AT LTI,
ZOREICRT LT, EDX D Ity 7a SHTA Dy, BN X,



Question A2

Answer the following questions about the page replacement algorithms.

(1) How many page faults occur for the LRU algorithm for the following page reference string,

with four page frames in main memory.

0,1,2,3,0,1,4,0,1,2,3,4

(2) In the FIFO algorithm, the number of page faults may increase as the number of available page
frames increases. Show this by calculating the number of page faults that occur with three and

four page frames for the above page reference string.

(3) In the LRU algorithm, the number of page faults never increases when the number of available

page frames increases. Explain the reason why.

(4) The LRU algorithm is not feasible without substantial hardware assistance. Give an example of
LRU approximation algorithms that can be implemented on the real computer, and explain its

outline.
(5)Discuss the possibility of the FIFO algorithm or many of the LRU approximation algorithms

that it mistakenly replaces a page that is still in active use. Describe a technique of actual

operating systems to protect against such possibility.
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BENHTIEERSE £ 3/ (Question A3)
Tu T ERECEET AL T ORICE 2 L.

() CERET. GRABIIEEH 235 (V) — ) T 5B sort ZatibE X CEAIIEIE
FETHEIET OO Y, UTOBMES 2L, nli3fidsl array DEEET
B0,

void sort (int array([], int n);

(2) CERBICEDLTOT —AEEREE 25!

typedef struct list {
int v;
struct list *next;

} List;

ZOT—=HEEERWS &L T2 XY AR (1, 8,21 I FIORT LSRRV 7 KU R
e LcEBTexs (N 280 5):

v next v next v next

1| o> 3 | o> 2

SeC. B2V A FEWIEIZ U TR reverse BEEESIFIULT) &
FeEl, SE LCESNY A MOTF—2EGEEZSE L TH XUy,

List *reverse(List* list);

Bz, FEto ) 2 b (1, 8,2] % reverse IZ52 =R EINADITHRDY A S Th
50

v next v next v next
2 —> 3 —> |
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Question A3
Answer the following questions related to programming languages.

(1) Write a function definition for sort in C, which sorts a given integer array (either in ascending or
descending order).

Use the below function declaration where n contains the number of elements in array:

void sort (int array([], int n);

(2) Consider the following data structure in C.

typedef struct list {
int v;
struct list *next;

} List;

Using this data structure, a list [1, 3, 2] can be represented as a linked list shown below ( /| means
NULL):

v next v next v next

1| o> 3 | o> 2

Write a function definition for reverse in C, which reverses the order of a given list (this function
may modify the data structure given as a list). Use the below function declaration:

List *reverse(List* list);

For example, if the above list [1, 3, 2] were given, reverse would return:

v next v next v next
2 ~—r> 3 —> |




WADTERE 5 4R (Question A4)

{2 s—Fy NEBH D%y NT— BOTR | 23U, L F—F v 17 R ()
b S DHAT 55 DEBIE L.

(1) HA4-1ITIBIT D “Version” [T ED X 5727 —=FEESND A, Bl & HRTE
Z L.

(2) BIAA-1IZEIT D “Identification” , “Flags” , “Fragment Offset” OBHIZFATE L.

(3) BA4-1ITHIT D “Timeto Live”  OEEIZFH K

(4) XAd-112F17 % “Protocol” & 1A iR L.

(5) XA4-112F1F % “Header Checksum” (3{1[D7=DIZ8 5 i L.

6) HAM-LZBIT DT 4=V DI L, LwREOEEICBWTRER LD, Fr—F
ZE T HFRICEH SND B OEST L. THT DI L Ui E b
D 2

(1) IPT L AOKEREZ RS DB DO—DIINATA®H 5. 7~ FHNATZ
WD EROIBE D4 T DT FHIR~ L.

(8) BUEDA »H—F v MIBWT, IPTE kL= 5 VOEHITEA TR,
ZOHHZRN, EOL LTS ZOMBIMRATE 20 B 005 2 kXL

0 1 2 3
01234567890123456789012345678901
R s S S s o e s S S B S S T
|[Version| IHL |[Type of Servicel Total Length
L s S S e O Tt St St S HE B B S S B B A
| Identification |Flags| Fragment Offset
s s S S e s Tt S I S I H B H H S S
| Time to Live | Protocol | Header Checksum
s s S S e s Tt S I S I H B H H S S

|
+
|
+
|
+
| Source Address [
S
| Destination Address [
S S R S S S S S T S Y S S S S S S N L A M —
| Options | Padding |

+

e s e T s S e B T s T Tt s

[XA4-1
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Question A4

In the Internet, IP (Internet Protocol) is used as one of the network layer protocols. Answer the
following questions regarding IP. Refer to the diagram of IP packet header as shown in Figure
A4-1 if necessary.

(1) What is specified in “Version” in Figure A4-1? Also give the reason why we have this field.

(2) What are the roles of “Identification”, “Flags”, and “Fragment Offset” in Figure A4-1,
respectively?

(3) Explain the role of “Time to Live” in Figure A4-1.

(4) Explain what “Protocol” in Figure A4-1 specifies.

(5) Explain why “Header Checksum” in Figure A4-1 is necessary.

(6) Among all these fields in Figure A4-1, distinguish those that are invariant during the
communication between end-systems and those that are updated at routers. For the latter,
show the reason why they get updated.

(7) NAT is considered as one of the techniques to mitigate the exhaustion of IP addresses.
Describe the communication in as much detail as possible when packets traverse NAT.

(8) In the current Internet, IP protocol has not been replaced with a new version yet. Describe the

reason for that and show your opinion as to how we can resolve this issue.

0 1 2 3
01234567890123456789012345678901

e S s S St e
|[Version| IHL |Type of Servicel| Total Length |
R s S S e e
| Identification |Flags| Fragment Offset |
e S s S L e pt S B
| Time to Live | Protocol | Header Checksum

e S s S St e
| Source Address |
e S s S St e
| Destination Address |
e e S s S el pt S e kS
| Options | Padding |

o s T e T K S Mo s et e

Figure A4-1
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BESHTIEERSE F£5R (Question Ab)

(1) PATORWZE % X,

(a) [XAS-1723, (Zd DAHAEOEIRIEED WHIHE &

(b) BAS-273, fi]Z3 HfAG o EmEEE A L, KAS-1DEEZ T, FDkH

ISR 2 D5 I

:‘ ) :_‘ E y— C4
B3

=D )

l: :) >03
B2

2= DAL ]

n—HD ’

C1

BO
A0

o ~_') ﬁ)D* Yo

A5-1

@) LUTFORINZEZ &

(a) [XAS-3DEIFENED K D 7B 24 DElEEHs, b/ —MEENTHHE L,

B3
A3

B2
A2

B1
Al

BO
A0
co

A-9

T
D
:)D _:)Di v
DTy
Eb; ’_‘D—:Dm_]
D
A5-2



CLK

[X|A5-3

(b) XAS-3D[EIFEA[XIAS-4D L D IZFEHEL L. EN A AE e TR L 72 [XIAS-5I R
L7z EFPRTE OB E 2 AR X,

—J QP
— cLK J QfF—mBo J QfF— B1 QB2
I CLK CLK CLK CLK
— K Qf— . | — | S
K Q K Q K Q p—
[X|A5—4 [X]A5—5

(3) [XIA5-61F. O~ADSEEDIBEER & ~T- A DERRK ChH D, H50, S1, S2
23, 000~100& 725 L 912, HWIHADOHF ORI ZRRG L,

ZZT, EP@D&;L G AUOEED =7 IV EmNE I, 12T
BBl T D,
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Question A5

(1) Answer the following questions
(a) Explain the behavior of combination logic circuit of Figure A5-1.
(b) Explain the behavior of combination logic circuit of Figure A5-2, then explain the advantages
over the logic circuit of Figure A5-1.
T —_n

|
|

C4

g

c4

B3 B3

gl
Y/

A3

Y3

g

=

n D pansw| s o
5D

v . w—> D .

e By S D>

Figure A5-1 Figure A5-2

Y2

g

Y
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(2) Answer the following questions.
(a) Explain the behavior of sequential logic circuit of Figure A5-3 with its Karnaugh map.

CLK

Figure A5-3

(b) Provided we combine multiple logic parts as described in Figure AS-3, and build a sequential
logic circuit as displayed in Figure A5-5 (The circuit in Figure A5-3 is depicted as Figure
A5-4).  Explain the behavior of sequential logic circuit of Figure AS-5.

1

— ok J al—eo J al— Bi1 I al—p2
— CLK CLK CLK CLK
— K Qf— - | - | .
K Q K Q K Q |—
Figure A5-4 Figure A5-5

(3) Figure A5-6 is A/D Translation Circuit which has five level 0~4.  Output SO, S1, and S2
represents 000~100 in association with the level 0~4. Design the logic circuit in the white box
in Figure A5-6.

Here, j> means a comparator which outputs “1” if the voltage of “+” is greater than the

voltage of “—.
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>A4

A2
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Al

S2
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Question A6

(1) Explain the following three sets of terms concerning geographic information and spatial data
concisely.
(@) raster data, attribute data, mixed-pixel problem
(b) spatial data, accuracy, uncertainty
(c) GPS (Global Positioning System), latitude/longitude, world geodetic system

(2) A major characteristic of objects or phenomena in space is called the friction of distance (or

distance decay).

(a) Explain this concept concisely, and give two examples of spatial phenomena that are affected
by the friction of distance.

(b) In relation to the concept of friction of distance, discuss spatial interaction models, such as the
gravity model, concisely.

(c) Concisely discuss the relationship between physical distance and cognitive (psychological)
distance.
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Directions: Do not open this booklet before the examination begins.
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11.

Read the following instructions carefully.

This booklet is for the examinees in Emerging Design and Informatics
Course, Graduate School of Interdisciplinary Information Studies.

This booklet includes 28 pages (T-1~T-12, A-1~A-16) . Report missing,
misplaced, and imperfect pages to the instructor.

This booklet includes a set of five questions (Question T1~T5) and a set
of six questions (Question A1~—A6). Select any three questions from
Question T1-T5, or two questions from Question T1~T5 and one
question from Question A1~ A6. Then, answer only three questions you
chose.

Each question is described both in Japanese and in English. Use the
Japanese version primarily; the English version is provided for the
reference purpose only.

There are three answer sheets and a scratch paper. Use one answer sheet
per_question. A scratch paper is provided for calculation. Only the
answer sheets will be marked.

Write a question number and your examinee’s number in the designated
boxes located at the top of each answer sheet. The answer missing a
question number and/or an examinee’s number will not be considered
valid.

Use only black pencils (or black mechanical pencils).

Answer the questions in Japanese as a general rule, although you are also
allowed to answer in English.

Do not leave the room until the examination is finished.

Do not take away this booklet, the answer sheets, and the scratch paper.
Write your examinee’s number and your name in the designated boxes
below.
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